SUSPENSION SYSTE/MS

97-06 JEEP TJ RUBICON MOUNTING PLATE

Thank you for choosing Rough Country for your suspension needs.

Please read Information below!!

Please note this kit is intended for use with Rough Country’s high clearance skid plate for the 97-03 TJ Jeep.
This will not install on the Jeep if part # 1126 High Clearance Skid Plate is not installed.

Please read all the instructions before beginning the installation. Check the kit hardware against the kit contents. Be
sure you have all the needed parts and understand where they go. Also please review the tools needed list and
make sure you have needed tools. If you have any questions please call us at 800-222-7023.

KIT CONTENTS TOOLS NEEDED:

Rubicon Compressor Bracket 9/16” Socket / Wrench
Poly Bag Containing: 1/2" Socket / Wrench

3/8" x 1" Bolts (2)

3/8" Flat Washers (2)

3/8” Flange Lock Nuts (2)

5/16" x 3/4" Bolt (4)

5/16" Flat Washers (4) 1

5/16" Lock Nuts (4) 'f—{,»‘:

|2
£5,°

—

e®

o

INSTALLATION INSTRUCTIONS

1. Install the Rubicon compressor bracket to the Rough Country skid plate using the supplied 3/8” x 1” bolts, wash-
ers and flange lock nuts. Tighten using a 9/16” wrench.

2. Install the Rubicon Compressor to the relocation plate using the supplied 5/16” x 3/4” Bolts. Tighten using a 1/2”
wrench.

PHOTO 1 |

~ o 4

g
i

INSTALL BRACKET ON SKID PLATE | I INSTALL COMPRESSOR ON BRACKET -

] o e SO b 4 —

POST INSTALLATION
e All components must be retightened after 500 miles, and every three thousand miles after installation.

SUSPENSION SYWSTEMS

Thank you for purchasing a Rough Country Product.



